
2. Solve each of the following equations: 

a) 3√2𝑥 − 4 + 1 = 7 

𝑥 = 4 

b) −2|𝑥 + 2| − 5 = 8 

𝑥 ∈ ∅ 

c) 
2

𝑥−76
= 1 

𝑥 = 78 

d) 7|𝑥| + 8 = 0 

𝑥 ∈ ∅ 

e) −5√𝑥 + 2 = −8 

𝑥 = 14/25  

f) 
2−𝑥

2𝑥−1
= 9 

𝑥 = 11/19 

g) −6√−𝑥 = 36 

𝑥 ∈ ∅ 

h) 3|2 − 𝑥| = 5 

𝑥 ∈ {
1

3
,
11

3
} 

i) 2√3 − 𝑥 + 4 = 16 

𝑥 = −33 

j) 
3𝑥−4

𝑥+3
= 5 

𝑥 = −
19

2
 

k) |3 − 𝑥| + 2 = 2 

𝑥 = 3 

l) 
𝑥−5

𝑥2−10𝑥+25
=

1

5
 

𝑥 = 10 

3. Solve each of the following inequalities 

a) 7 > 3|2 − 𝑥| − 2 

𝑥 ∈ ] − 1, 5[  

b) 5 >
2

3−𝑥
+ 7 

𝑥 ∈ ]3, 4[ 

c) −4 < −√7 − 7𝑥 + 2 

𝑥 ∈ ] − 29/7, 1] 

d) 10 < −2|𝑥 − 5| 

𝑥 ∈ ∅ 

e) √3 − 𝑥 + 7 ≥ 10 

𝑥 ∈] − ∞, 6] 

f) 0 <
2𝑥−3

𝑥−1
 

𝑥 ∈]-∞, 1[∪]
3

2
, ∞[ 

g) 0 ≥
3

𝑥−2
+ 1 

𝑥 ∈ [−1, 2[ 

h) 
3

𝑥+2
< 0 

𝑥 ∈] − ∞, −2[ 

i) 2|𝑥 + 2| − 9 ≥ 0 

𝑥 ∈]-∞,
−13

2
] ∪ [

5

2
, ∞[ 

j) 2 > −√−𝑥 

𝑥 ∈] − ∞, 0] 

k) −√𝑥 − 5 + 1 ≥ 8 

𝑥 ∈ ∅ 

l) 6|𝑥 − 2| + 4 ≤ 0 

𝑥 ∈ ∅ 

 

 

 

 


